o 293 2ol /B 7F A7k A4 ABC 9 HlW AC 9
SHES 0 & o, /BAC = 50° ot} sx 9] 27|&2?
A
50°
O
T
B C

@® 60° @ 70° ® 80° @ 90° (3))100°

/OAB = 50° °]1, /OAB = /OBA
m2tA LOBA = 50° ©|t.
x = 50° + 50° = 100°




}t&loﬂ AB CDoﬂfﬂ iz o] dojo] gho] 14 f, o}
ol =¥ 9] Aol

O 21 @ 22 ® 23 @24 ® 25

AO+CO=AC, BO+0OD=BDo|2&
Ze xnnol £d = 2AB+ AC + BD = 10 + 14 = 24 0]t}

£




ORONE GRECNGC) ® 6,0




ot

1804 AABC = AB = AC ¢l A7}
o] A}

HAZY ot} /D = /E =90° CE =

cm, DE = 7em & o, BD ©] Zo]=?

ol dlo

[\

@ 4cm @)5cm ® 6cm @ Tem

® 8cm

ADBA £} AEAC A

/D=/E=90°---Q

AB=AC---©

(DBA = /EAC---©

(= /DBA + /DAB =90°, /EAC + /DAB = 90°)
9,0, ©°l ¢J3f

ADBA = AACE (RHA &%)

AD = CE = 2(cm), AE = BD °o|2&
BD = AE=7- AD = 5(cm)




o2 2N A M 171 aABC o] WAL o, DE 9] Zdoj=? (¢
//BC)

@ 3cm @ 4cm ® 5cm @ 6cm @70111

=




Sl

PP ABCD 7} vt

%
57} 57] 9

< 1

ot

j=

6.

©9

z7

ki

3 ze

@ ACLAD

(@)A_CL@

@ BD = 20D

® /B+:/C=180°

® (A =.C

Ago] nhg o),

o

b

o} Ze

U

ol N
w T
=




th-& Ida Zo]l AD//BCQ AtthE] &
ABCDo] 9t} /BAD = /CDA 21 & o,

e F 87 g ALY 0

B C
® AB=DC @ /ABC = /DCB
® OA =0D @)AD - bC

® /BAC = /CDB

AbchE]Z ABCD 94 /BAD = /CDA©]|E2 ABCDLE SHA}L
tha]&Zo] H},

2H AABC = ADCB (SAS &%) ©]2L AOAD = °|5HAZ T
oJtt,




8.

The 197} 22 FPAPHY ABCD ol 2702 T2 o, ©f
Fol HeAE vtEA dEqt A2
A D
0)
B C

@O /OAD = /ODA — P&
@ (OAD = /OAB — 2 A4S
@AOBC = /0CB = 45° - ZAHZE

@ OC = 0D - 3123

® aO0BC = A0CD — AT

B

D /OAD = /ODA°]H OA = OD — Az
@.0AD = /OAB©]H AB =
® /OBC = /OCB = 45°°]H OB = OC,
/BOC = 90° — A2+
@ OC = OD — A4
® AOBC = AOCDo|H
/COB = /COD = 90°,
CD=CB - "2




9. 2 1Y AD//BCS Atthe]& ABCD oA AE//DCY o,
OABED 9] Ho]=?

A D

\

\

\

5cm

/ C

~~6cm- E4em”
D) 25¢m?2 @ 30cm? ® 35cm?

@ 40cm? ® 45cm?

AE //DCo|B2 7} &o]7} Zo} AAEC = AADE €]t}
OABED = AABE + AADE = AABE + AAEC = AABC

1
- O0ABED = 3 X5 (6 +4) = 25(cm?)




10. o5 233 2ol AD//BC ¢ AFEFE]E ABCD ©4 OA : OC =1: 2
otk AAOD = 48cm? ¥ W, 0ABCD 9] Hol=?

A D
9)
B C
@4320m2 @ 480cm? ® 562cm?
@ 600cm? ® 642cm?

B \
AAOD : ACOD =1:2 90|22

48 : ACOD =1:2 .. ACOD = 96 cm?

ojmf AABD = AACD ©°|E 2

AABO = ACOD = 96 cm?

T, AABO:ACOB=1:20]|2=2

96: ACOB=1:2 .. ACOB = 192 cm?

- OABCD = 48 + 96 + 96 + 192 = 432( cm?)




11. & T4 AB = AC ©]1 /DFC =90°< 1w, x o] ZAo|=9

@ 3cm @)4cm ® 5cm @ 6cm ® Tcm

AABC 94 /ABC = a 2t 311 AB = AC 9|22 /ACB =a
o|tt.

w24 ABEF 9|4 /BEF = 90—q ©]3! u}2E7}2] 2 ADCF ©f| A
/CDF = 90 — a ©|t}.

Z, (BEF = /CDF, (BEF = /AED (%%x|Z
wz2tA .CDF = /AED ©|E 2 AAED = o|SH Az o1,
AD = AE = x(cm) o]t} @2t AB = 44x =8 = AC 0|22
x = 4(cm) oJt},

v
o
=




12.

o3 1989 /AOB 9] Y7ol gt A P oA & A
H OA, OB of W& 49 ¥rs Z47F , R Q
olebm a9l & ), QP = RP olch. oh& %
&7 e AL

Y R
@D AQPO = ARPO @ QO =RO
®)qo -0 @ ,0PQ = /OPR

® /QOP = /ROP

B

7t o|FE F HoflA 22 A gl
el ik
QP =RP |22 OP &= /QOR 9] o] 5EAo|t},
a2 & QO # PO ot




Z

|

o]
=

AT 2] o]

o =
= O

=

13.

o,

o

=

[e)
=

]

/go

WA @Y =3 74 F




14. o5 283 22 FPAHE ABCD oA A

AF = CG, BF = DA< o, OEFGH & %7 ‘ﬁ"

Aol fir, 1 2489 35

A0 = 00, AE = CG 0| B2 FO = GO
BO — DO, BF = DAY FO = 10
et A12tg EFGHE BaApagolt),




15. o2 133 e Az ABCD 9] ¥ AD, BC 9ol BE = FD 7}
A= HE, FE #S ), ogEBFD & " AL 171?

E

A D
BY— C
O suatez  @uaduy @ nEm
@ AN ® A2

AABF = ACDF (RHASHE)o|E2
AE = CF @&}A] ED = BF
%H BE = DF ©| 2 & gEBFD &= H A g o]t}




16. th2 134 H O = AABC 9] 2J4o]t}t. /OCB = 35° 4 o, /x
o] 2717

B 35 M

@® 35° @ 40° ® 45° @ 50° (3))55°

S8 ~
/0OBC = /0OCB = 35°
(BAC + /ABO + /ACO = 2x
180° = 35° X 2 + 2x
110° = 2x
.. x = bh°




17. o2 O"oA AB = 90 9] #50]1, YO0 E aABC 2] Y, ¥
2 AABC O ottt = € 0,0’ 9 ¥tx]52] Zol7t 2+ 3em,
lem ¥ o, AABC 9] Ho]&?

® 6cm? @)7cm? ® 8cm?

@ 9cm? ® 10cm?

S5 \
AB 7} 90 9] A goln2

AABC £ /C = 90° ¢ 2|ZH47hg o]
AABC o] YHY0’ 3 AB, BC, CA
5}1, BC = a(cm) , AC = b(cm) 2 5P
BE=BD =a-1(cm), AF = AD = b - 1(cm)
Gt AB=a-1+b-1=6°E&. a+b=28

ol

2

=8

X
o
I
N
O
=
5!
i)

1 1
.'.AABC:5x1><(a+b+6)=5(8+6)=7(cm2)




® sOBA = /0CD @ AOAB = A0AD
®)0x - 0C, 0B = 0D @ AB = AD, OB = CD
® OA = 0B = 0C = 0D

B

AAOD ¢} ACOB ©llA4] /DAO = /BCO (S7})
AD = BC (P g <] tisl)

(ADO = /CBO (%7})

. AAOD = ACOB (ASA &%)

.. OA =0C, OB = 0D




19.

o2 1A YA ABCD 9] Yol
7} 64cm? & ™, AOAE ¢} AOBF 9] lo]<]
5109

H .

@ 14cm? (@)160m2 ® 18cm?

@ 24cm? ® 32cm?

~&B

AAOE = ACOF (ASA ¥%) o|B=2
AOAE + AOBF = AOBC

AOBC = iDABCD = % x 64 = 16 (cm?)




